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a#0,0#0,c#0; c)lo,x¢0y#027€0 d) — 7CL#O b#0,
c#0. 11.2% =16777216.

7 Upravy algebraickych vyraza

1.2) (247) (45— 40); 45; b) (37 —-19) : (4 +5); 2. 2. a), b), d).
a) 6,3; b) 0,5, ¢) —=0,5;d) 12.  4.a) 2;b) 1;¢) 3. 5.a) 2z + 5;
b) 2(z+5); ¢) (m—mn)?; d) m® —n?;e) 2r-Ts—(2r—7s). 6.a)x—5;

b) 5—a;¢) y+=;d) 3m;e) dm +n. 7. (2d - 5) Zékd. 8. ) Ke.

170 4a 100m

9. 6 (a+ k) lidi. 10. —km 11. ?km. 12. litra.

2
13. (100 — (3a+2b + 3)) K&.  14. gabmz. 15. (av — 0,000 1bd) m?.

16. c = IFstdntd . ( = ﬂ) ke, 1s, Sk +16)
a 100 a

t t
vyrobkd. 19.a) — - bodin; b) —— hodin. 20 (25t 25 — 1,5)
n n

metrd.  21.0; —0,25; 1; 8; 33.  22.a) —; —2=; —4=; ——; b) 15;

—57; —45; —45; ¢) 11; 36; 15; 7,5. 23. Nema. 24. Je TeSenim
4

v piipadech a), b), d).  25.a) 5,6m —2,4n — 1; b) 0,9z — 3V + 11.

26. —3m’+2m>+m+19; —301. 27. —43+¢2-25;11. 28. —8k—9; 15.
29. 3v* —Tv® +502 —50+1; 3. 30.2°—2,122—1,22+1,6;27,2. 31. )

7
b);c). 32.a)3—c; b)——;—. 33.1,5a+3,5. 34.-5; —3,52; —1,75;
0;0,25; —1. 35.4,4;1,4;0;-0,1;0,2; 2. 36. 35; 20; 5; 2; 0; —1;0; 5; 35.
25 4 1 4 1 16 ‘
37. —; =5 o —=; —; —; 4,32, 12. 38. ; t+Tc—2;
373030 750 75 5 .32 a) 5a+b+1;b) Tk+T7c—2;

c) 0,3t — 0,57 + 3; d) 3m? 4+ 2am + 5,54°. 39. a) —6a + 2c + 6t;
b) 5,5p—15,9¢+1,7; ¢) h>—6,6h+0,49; d) 572 —22r+4. 40. a) 13t—5;
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b) 202 4+62+1;¢) 22 +6x+1;d) —4,5m> +52m. 41. —2c—8d+13.
42, 2.4n + 50 — g. 43.0,1k* — 2,5k +6,9. 44.a) —2a% + 1242 + q;

b) —30a*b + 10230 — a®b®.  45. a) —27a — 36b; b) 0; ¢) 18a + 5b;

d) 44—70a. 46. a) 39z —64; b) —3622 +512+16; ¢) —272> + 84z — 64;

d) 2723 —722% 4362 +16. 47. a) 92 +241+16; b) 4922 +70zy + 25¢7;
x> 3:v 9

= T+t d) 0,01z* 4+ 0,122 + 0,25.  48. a) 2? — 4oy + 4y?;

(2]

9 2
b) 25—20a+4a?; c) 96> +12b+4; d) % —1,8y+0,36; ) 4b* —36b%+81;

f) 16a*+24a%0> +9b*.  49.a) (a+2b)? = a®+4ab+4b%; b) (2u—3v)? =
= 4u® — 12uv + ?; ¢) (32 —5y)? = 922 — 302y +25¢%; d) (Tm—n3)? =
=49m? —14mn®+n*. 50. Rovnajise a), c),d). 51.a) a®>—8a+16;
b) —2a(y + a); ¢) 0; d) —7(m? — 4m + 4). 52. a) 4y(2z — 3y);
b) —32(2z + 3 + 4y); c) Tab(Ta — 3b); d) 13t%sv(5s — Ttv + 3t3s).
53. a) 2(3 —v); b) 4(¢ = 3); ¢) (v —1)(u—1); d) (6r — 7)(t — 2).
54.2) (a—b)(5—1); b) (r—1)(r2+1); ¢) (2=3)(T—2b); d) (5—2m) (t-+5);
e) (z+y)2n+k); ) (c — d)(3a — 2). 55. a) (7 + 42)(7 — 4z);
b) (z%y + 1)(z?y — 1); ¢) Ba+b+c)(3a+b—c); d) (0,6 — 4b)(—4b).
56. a) (u — 12)(u — 12); b) (3a + 7b)(3a + 7b); c) 3(h + 5)(h + 5);
d) 5y%(y—4)(y—4). 57.a) (r=7)(r+s)(r—s);b) (z—1)(z+2)(z-2).
58. a) m?k%(2k — Tm)(2k + Tm); b) (u + v)(u — v)(2r + 3s)(2r — 3s).
59. a) (3a+2b—6)(3a—2b+4); b) (2¢c+4d—1)(2¢c—2d+1). 60.a)z # 0;

5
b) pro kazdé redlné z; c) x # —6; d) z # —% e)x #0,z # —9;

5 5
—7y#—§;6)y#0,

le#25 6Lay#3ys# -3b)y# 3

y # —%§ dy#0,y# é, y # —%; e) a f) pro vSechna reélns y.
9 2
sz.a)x;eo,y;so;b)x;é—y;c)x#—gy;d)w#gy,m#—gy,

1
e) x # =5y; f) z # 3y. 63. —15; —2,5; neméa smysl; 4,5; 2; 0.
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